

Pay Estimate Created Date: August 17, 2020

Progress Estima 26	ate Number	Contract ID 190517-C03 Prime Contractor Superior Rail S		et 2, 2020 Original Contract Amount et 15, 2020 Net Change Order Amount Current Contract Amount	nt \$2,187,384.00					
Approval Date					By User					
August 17, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by								
August 17, 2020		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by penr								
August 18, 2020			Reviewed and Approved at the Cent	ral Office Controllers Office Level by	greggd1					
Original Comp	etion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amour	nt Complete					
June 30, 2	2020	June 30, 2021		54.10%						

No Milestones Exist for Contract

Somract Total P	Pay For Estim	ate No. 26	5							
				This Estimate	Previous	6	To Date			
190517-C03	Gross Incenti Disince		djustments \$0.00 \$0.00 \$0.00		\$1,318,0 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00)79.64	\$1,352,53 \$0.00 \$0.00 \$0.00 \$0.00	\$1,352,531.00 \$0.00 \$0.00 \$0.00		
		Contract Ad		\$0.00 \$0.00	\$0.00		\$0.00			
				-	<mark>\$1,318,0</mark>	079.64	\$1,352,53	1.00		
Contract Total F	Payable This I	Estimate:		\$34,451.36						
ems Paid This I	Line	Item		Item Description	Unit	Unit Price	Current Installed	Current Installed		
Number	Number	Code					Qty	Amount		
Number J3I3065	Number 0020	Code 6189916	MISC.NOF FACTOR	RMAL WORK ADJUSTMENT	DLR	\$0.880	Qty 36,422	Amount \$32,051.36		
			FACTOR	RMAL WORK ADJUSTMENT	DLR	\$0.880 \$2,400.000	-	\$32,051.36		
	0020	6189916	FACTOR				-			

Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J3I3065	FAS S301(41)	Job order contract for rural guardrail and guardcable	Various	VARIOUS	at various locations in the rural KC district								

Totals by Job Numbers

3065	This Estimate	Previous	To Date
Posted Item Pay	\$34,451.36	\$1,318,079.64	\$1,352,531.00
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$34,451.36	\$1,318,079.64	\$1,352,531.00
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Note. 1 Obted &	uunuuoo	und vuid		bubbu bii	Report Generated date and can diller norm the posted a	mount at th		unate was e	Jonorate	vu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
190517-C03	J3I3065	0001	0010	6189916	MISC.NIGHTTIME WORK ADJUSTMENT FACTOR	18,400.00	364,564.00	382,964.00	DLR	6,709.00	\$0.60	\$4,025.40
		0001	0020	6189916	MISC.NORMAL WORK ADJUSTMENT FACTOR	331,200.00	1,988,530.91	2,319,730.91	DLR	1,460,912.33	\$0.88	\$1,285,602.85
		0001	0030	6189916	MISC.WEEKEND WORK ADJUSTMENT FACTOR	18,400.00	397,706.18	416,106.18	DLR	14,005.00	\$0.55	\$7,702.75
		0001	0070	6189916	MISC.Liquidated Damages	0.00	0.00	0.00	DLR	0.00	(\$1.00)	\$0.00
		0001	0100	6189916	MISC.Additional Items	0.00	0.00	0.00	DLR	0.00	\$1.00	\$0.00
		0001	0200	6189902	MISC.High Priority Repair	0.00	0.00	0.00	EA	23.00	\$2,400.00	\$55,200.00
	Project J	313065 - To	otal Value	Posted to	Date as of Report Generated Date							\$1,352,531.00
190517-C03 Ove	rall - Tota	I Value Pos	ted to Da	ate as of Re	port Generated Date							\$1,352,531.00



ala atr. 1212001

Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

ine. mber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	6189916	MISC.	8/3/20	8/5/20	3,500.00	DLR	K20C1522					
				8/5/20	3,850.00	DLR	K20C1523					
				8/5/20	4,245.00	DLR	K20C1524					
			8/4/20	8/10/20	1,000.00	DLR	K20C1587					
				8/10/20	1,203.00	DLR	K20C1583					
				8/10/20	1,256.00	DLR	K20C1559					
				8/10/20	3,450.00	DLR	K20C1582					
			8/7/20	8/12/20	1,073.00	DLR	K20C1601					
				8/12/20	2,461.00	DLR	K20C1558					
			8/10/20	8/13/20	1,176.00	DLR	K20C1603					
				8/13/20	1,501.00	DLR	K20C1604					
				8/13/20	2,507.00	DLR	K20C1600					
				8/13/20	9,200.00	DLR	K20C1602					
0200	6189902	MISC.	8/4/20	8/10/20	1.00	EA	K20C1582					

The information below this line are details from Line Item agency views. No Agency View Details Exist



No Data Available